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Cos o

D1+ te’a =
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2)Sin“x +Cos’y =1
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3)tex - ctex =1
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Cosy

gy = Siny
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6)Sin(2w — o) = Sina
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7)Cos(7m — x)=—Cosx
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R)ctg(m + o) =tga
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NSinx - Cosy — Siny - Cosx = Sin(x — y)
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10)Cosa - Sinf3 — Sina - Cos3 = COS(OC — ﬁ)



1) Bbluncnure

Sin B=7
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2) Bbluncnure

tgC="
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3) Bbluncnure

&nng
3

AB =6
BC =7
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a)Sin120"
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6)Cos180" — Sin(-270")
1)0;

2)—2;

3)-1;

4)ne — umeem — cmwlcia.



Bbluncnnte v Hamamte Homep
BEepHOro oreeTa

8)tg225"
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3) y2 4) V2

2 2




Bbluncnute v Hamamte Homep
BEepHOro oTBeTa

2)\/§cz‘g % +2- COS(— %) =

1)1:2)3:
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0)Sin16" - Cos14" — Sin14" - Cos16"
V3

2 9
J2
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1)}2)

3)Sin2";4)
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e)Cos42"-Cos18"-Sin42" - Sinl18" =
1:2)Cos24 -
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oc)Sin25" - Sin55" +Cos25" - Cos55" =

| V3,

1)592)79
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3)C0s23 .Cos7" -Cos67"-Cos83" =
1)1;2)Cosl6 ;
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